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CHECKING ADDITION 

 

SYMBOL 

Add 

 

RELATED SHORTCUTS 

Add, Sub, Mul, Div 

 

PRACTICE QUESTIONS 

1. 23 + 18 = 41 (Check) 

2. 35
 
+ 27 = 52 (Check) 

3. 518 + 396 = 904 (Check) 

4. 536 + 288 = 824 (Check) 

5. 3714 + 3586 = 7300 (Check) 

6. 8851 + 2759 = 10610 (Check) 

7. 9058 + 7955 = 18013 (Check) 

8. 11084 + 9059 = 20143 (Check) 

9. 29850 + 18970 = 47820 (Check) 

10. 58396 + 23898 = 81284 (Check) 
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ANSWERS 

1. 23 + 18 = 41 (�) 

2. 35
 
+ 27 = 52 (�) 

3. 518 + 396 = 904 (�) 

4. 536 + 288 = 824 (�) 

5. 3714 + 3586 = 7300 (�) 

6. 8851 + 2759 = 10610 (�) 

7. 9058 + 7955 = 18013 (�) 

8. 11084 + 9059 = 20143 (�) 

9. 29850 + 18970 = 47820 (�) 

10. 58396 + 23898 = 81284 (�) 
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